KOPOTKE KEPIBHULITBO STADIO STADIO SHORT MANUAL

KOHCTPYKTUBHI OCOBJIUBOCTI

He BiMaraeTbCst nonepeAHbOro MOHTaxy AeTanen Ha Bany
ABUIyHa.

Briok nepeacTyneHi He MoXe BUKOPUCTOBYBATUCS CaM no Cobi,
a Tinbku B noegHanHi 3 BOX

He noTpebye nepiognyHOro TexHiYHOro 06CmyroByBaHHS!

Mepenik petanen

os BEA

0s

DESIGN FEATURES
It is not requested any part pre-mounting on the motor shaft.

The pre-stage unit cannot be used by itself, but only coupled
with BOX

No periodical maintenance is requested

Components list

@300

STAB1
a [ |

0s 0s

input 1 16004 19x42x6 24x47x6 6206 30x62x7 35x62x7
tput = 5 te0ps 17x30x7 iEne 20x35x7 Pons 30x47x7 = 30x47x7
outpu X X X X X X X X
R 3 8002 6003 6006 6006 11 STAS11
STADIO MANUAL REV.03 1/5 www.motive.it




BUBEIP PO3MIPY PEOYKTOPA

CepsicHuin koediuieHT (Cepaic-chaktop) fsr - Lie uncnose
3HAYEHHS, LLIO XapaKTepu3ye CepBICHUI pexumM poboTu
peayktopa. CepicHuiA koedilieHT fs - Lie TOM, kWi NponoHye
PeayKTop NpW HOMiHaNbHOMY BXiGHOMY MOMeEHTI Nm i yacToTi
obepTaHHs aBuryHa rpm. fs noBuHeH ByTn = 3anuTyBaHOrO fsr.
fsr BpaxoBye Taki napameTpm Ak

e LjoJeHHa TpuBanicTb poboTu rig;
knacudikauis HaBaHTaXXEHHsl, MOMEHT iHepLjii Mac, Lo
NPUBOASATLCA B PyX;
KiNbKiCTb MyCKiB Ha roauHy clr;
HasIBHICTb ranbMiBHWUX ABUTYHIB;
BaXMMBICTb 3aCTOCYBaHHS 3 TOUKMW 30py Ge3nekwm,
Hanpwknag, nigiom getanen.
AKLLO HOMIHAMNBHWIA KPYTHUIA MOMEHT peaykTopa Mn2 nepesuLyye
HeobxigHMA Mp2, TO HOMIHANBHWIA KoediLliEHT Cnyx6u Moxe ByTn
36inbLUeHuI 3a Popmynoo:

al f_on the table - M_, on the table
M.

f re
=

Came Take peanbHe 3Ha4eHHs fs NOBUHHO 6yTW = fr.

[ns Takmx po3paxyHKiB M1 PEKOMEHAYEMO BUKOPUCTOBYBATH
koHdirypaTop Motive https://www.motive.it/ua/configuratore.php

GEARBOX SIZE SELECTION

The Service factor fsr is a numeric value describing the gearbox
service duty. The service factor fs is the one offered by the
gearbox at the rated input torque Nm and speed rpm of the
motor. fs must be = of the requested one fs.
fsr takes into consideration parameters like:

o the daily working hours h/d
the load classification, and then the moment of inertia
of the driven masses.
The number of starts per hour s/h
The presence of brake motors
The significance of the application in terms of safety,
for example lifting of parts
Whenever the rated torque of a gearbox Mn2 is higher than the
requested one M, the rated service factor can be increased
according to the formula:

L]
[ ]

f_on the table - M_, on the table
real == =
M

r2
It is such real value of fs that must be = fsr.

For such calculations we recommend the use of Motive
configurator http://www.motive.it/en/configuratore.php

36epiratoum Toi ke cepBicCHUIA KoeiLieHT, KLLO peayKTop
nignsrae 3anycky B 060X HanpsiMkax 0BepTaHHsl, HeoDXigHO
3MEHLUUTI HOMIHAMbHWA KPYTHUA MOMEHT HM Ha 25%.

Keeping the same service factor, if a gearbox is subject to
starting in both directions of rotation, you must decrease the
rated torque Nm of 25%

STADIO MANUAL REV.03

2/5 www.motive.it


https://www.motive.it/ua/configuratore.php
http://www.motive.it/en/configuratore.php

KPINNEHHA

KpinneHnHs ons 3'eaHanHs STADIO 3 YepB'syHM pegyKToOpoM
BOX nocraBnsieTbcs B KOMMEKTi 3 KoXHAM BOX.

Kpinnenus ans 3'egHanHs STADIO 3 ABUryHOM NOCTaBNSETHCS
B kOMNNeKTi 3 koxHuM STADIO. BoHu BkntoYatoTh 4 rBUHTH,
CTOMOPHi Waibw Ta raiiku. 3axo4m NnepepaxoBaHi Himkye

FASTENERS

The connecting fasteners of STADIO to BOX worm gearbox are
supplied with each BOX.

The connecting fasteners of STADIO to the motor are supplied
with each STADIO. They include 4 screws, grower washers and
nuts. Measures are listed below

nr

STADIO-63 M8X25 2 M8X35 2

STADIO-71 M8X25 2 M8X35 2

STADIO-80 M10X35 2 M10X45 2

STADIO-90 M10X35 2 M10X45 2
NEPIOAWYHI NEPEBIPKA ROUTINE CHECKS

Yepe3 koxHi 3.000 pobounx roauH, ane He pigwe, Hix yepes

KOXHi 6 micsuiB:
nepesipuTyh piBeHb Macna;
OYMCTUTM 30BHILUHI NOBEPXHI | BEHTUNALLAHI KaHanu;
OYMCTUTM NOBITPSAHWI NPOXif CanyHa;
nepesipTe Bi3yanbHO BifCYTHICTb NiATIKAHHA ONWBK 3
YLWiMbHEHb Bi3yanbHo;

AN PeyKTopiB 3 MOMEHTHUM BaXenem nepesipuTi ryMoBui

Oydep i npn HeOOXigHOCTI 3aMiHNTB HOTO.

KoxHi 20.000 po6ounx roavH i He piguwe, Hix KOXHi 5 pokiB:

AKwo Bepcisi ATEX, 3aMiHiTb CUHTETUYHE Macno Ha

MiHepanbHe, 3aBXau AOTPUMYITECH CTAHOAPTHNX HCTPYKLN);

3aMiHiTb MacTUIIO BiAKPUTMX MiOLLMMHUKIB KOYEHHS, SKi He
KOHTaKTYI0Tb 3 MacfoM (Hanpuknaz, KOHiYHi POrMKOBI
NiALWMMHYKW 3 MacNSHKaMK).

Every 3.000 working hours, and at least every 6 months:

check oil level;

clean external surfaces and the ventilation air passages;
clean the breather plug air passage;

check visually the absence of leakage from seals visually;

for gear units with a torque arm, check the rubber buffer and
change i, if necessary.

Every 20.000 working hours, and at least every 5 years:

if ATEX version, change synthetic oil with with mineral oil,
always follow standard instructions);

replace anti-friction bearing grease of open bearings not
touched by oil (for instance, taper roller bearings with nilos).

STADIO MANUAL REV.03

3/5 www.motive.it



3MALLIYBAHHA LUBRIFICATION
STADIO-63 STADIO-71 STADIO-80 STADIO-90
CuHTEeTMYHa onnBa- synthetic oil - huile synthétique
T°C -25°C + +50°C
ISOVG... ISO VG320
| FUCHS RENOLIN PG 320
g SHELL OMALA S4 320
% i‘ MOBIL GLYGOYLE 320
g © [ CASTROL ALPHASYN PG320
AGIP TELIUM VSF320
= «o| B3-B38
L
% =| B6-B7 0,04 0,08 0,18 0,20
° 2] v5-ve
nonepeaHbO 3anoBHEHa ONMBOIO Ha 3aBOgj
obcnyroByBaHHs -
He noTpebye, onvBa Ha BECb TEPMiH ekcnnyaTauii
. pre-lubricated by Motive
Maintenance
none, lifetime lubrication
NO®T WECTEPEHb GEARS BACKLASH
MAKCUMANBHUIA KYTOBUW NIO®T -
FABAPUT STADIO - STADIO SIZE
MAXIMUM ANGULAR BACKLASH
STADIO 63 1°
STADIO 71 0°4829"
STADIO 80 0° 40
STADIO 90 0° 3%’
5 5 MOHTAXHI MONOXEHHS MOUNTING POSITIONS
AK | BCi MOTOP-peayKTopy, Lo Like all connectable motive motors and
3'egHytoTbest, STADIO MoxHa gearboxes, STADIO can be mounted in any

BCTAHOBMIOBATY B Byb-AkoMy nomoxenHi,  position without specifying anything in the
B6 B7

He BKa3yKuM Hi4Oro B 3aMOBMEHHI. order.

Bci STADIO nocTtaBnsoTsCs 3 MOTOPOM, All STADIO are supplied by motive already

BXE 3ar0BHEHUM BifMNOBIAHO KiNbKICTIO filled by a suitable quantity of synthetic oil
vs @) ve , CUHTETMYHOI onmeM ISOVG320 -25°C + ISOVG320 -25°C = +50°C

Gl Ay | 0C

STADIO MANUAL REV.03 4/5 www.motive. it



Ha canti www.motive.it, BUKOPUCTOBYHOUM CEPIfHWIA HOMEP Ha
3aBOACHKiN TabnmMuLl pefykTopa, MOXHA 3aBaHTaXUTL
®iHanbHui MpoTokon BunpobyBaHb KoXHOrO arperary.

@

On www.motive.it, using the serial number on the nameplate of
the gearbox, it is possible to download the Final Test Report of
each unit.

@ Final Test Report | Motive Motors Srl - Mozilla Firefox
File Modifics Visualizza Cronologia Sggnelibri Strumenti Aiuto
{3 Final Test Report | Motive Motors Sl [[@:Div«dndmy-m “| + |

[E=m= ==

€

motivemotors.it/final-test-repart/inde

@ motive s.r.l.

Via Le Ghiselle. 20

25014 Castenedolo (BS), ftaly

tel: +39 030 2677087 | fax: +39 030 2677425
e-mail: motive@e-motive.it | PIVA: 03580280174
W e-motive. it

motive

0]
WO

motive

| 8- Googte 2 &

Final test report

TTA | ENG | FRA [ TED] SPA | ARA

il

"MoTue" po3rnagae npeTeHsii NoKynus B pamkax rapaHTinHuX
3060B'A3aHb (auB. katanor "MoTuB") Tinbku Npy 4OTPUMaHHI BCiX
BCTaHOBMEHNX YMOB 30epiraHHs, NigrotoBKM, BBEAEHHS B
ekcnyatawito Ta BUKopucTaHHs. Moxnuei peknamadii NoBUHHi
CYNpOBOMKYBaTUCS iHGOPMALLiEl0 NPO CepiitHMi HoMep BUPODY,
a Takox byab-Koto HeoOXigHOK iHdhopMaLlielo Ta Jokasamu.

Motive takes into consideration customer’s reclamation claims in
the frame of the term of guarantee obligations (see Motive
catalogue), only if all prescribed conditions for storage,
preparation, putting into operation and use are observed.
Eventual complaints shall be accompanied by the information of
the product serial number and any relevant information and
evidence.

1SO 9001

Motive s.r.l.
motive@motive.it
www.motive.it
- T +39 030 2677087
IMOTLIVE  F+390302677125
power hansmission
STADIO MANUAL REV.03

5/5 www.motive.it


http://www.motive.it/
http://www.motive.it/
http://www.motive.it/

